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QUESTION 1

What is the default PIM-SSM IP range?
A. 224.0.0.0/4

B. 224.0.0.0/24

C. 232.0.0.0/8

D. 232.0.0.0/4

Correct Answer: C

Reference: https://www.dell.com/support/manuals/us/en/04/force10-z9500/z9500_9.9.0.0_cli_pub-v1/ip-pim-ssm-
range?guid=guid-995ffbd6-412f-4b34-92d1-50bb254ae371andlang=en-us

QUESTION 2

What benefit does VRRP version 3 provide over VRRP version 2 in 0S10?
A. Provides preemption capability.

B. Provides MD5 authentication.

C. Allows subsecond timers.

D. Allows multiple masters in the topology.

Correct Answer: C

QUESTION 3

What is the size of the VLAN tag in an Ethernet frame?
A. 4 bytes

B. 8 bytes

C. 1 byte

D. 2 bytes

Correct Answer: A

QUESTION 4

What is an advantage of UFD?
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A. Reduces connectivity loss.

B. Detects the loss of downstream connectivity.
C. Reduces network complexity.

D. Prevents the loss of upstream connectivity.

Correct Answer: D

QUESTION 5

Which type of protocol is OSPF and what metric does it use to determine best path?
A. Link-state protocol that uses a concept of cost as metric

B. Hybrid protocol that uses hop count as a metric

C. Path vector protocol that uses the Dijkstra algorithm as a metric

D. Distance Vector protocol that uses bandwidth and delay as metric

Correct Answer: A
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